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=t 13,821 26 3,547 539,361
EAEE 4,752 29 1,363 220,738
—HAZKFS 1,658 24 393 40,500
B ROk 1,524 28 425 36,939
H ) 26 57 29,791
HE 606 29 177 25,466
BHEK 648 24 154 21,802
PE 571 24 137 20,486
5 230 20 46 13,190
MiES 53 39 21 10,278
PN 275 36 99 8,681
H At 313 21 66 7,906
B 83 31 26 7,753
BE 138 17 23 7,542
HeEE 114 23 26 6,553
PEJI 133 2 29 6,316
% 129 32 42 5,975
Eagalic] 156 6 10 5,393
£ 241 25 61 5,087
B HAE 34 23 8 4,329
ik 122 25 30 3,505
= 73 8 6 3,275
N BT 34 28 10 3,155
B 118 15 17 2,981
KLHER 36 16 6 2,961
HHZEE] 38 38 14 2,803
EE 35 2 8 2,407
H A IESE 68 29 20 2,385
TTRoH 51 10 5 2,290
EEIR 61 12 7 2,114
) 19 19 3 1,910
CEE(H) 88 44 39 1,830
JFERHHRE 337 11 36 1,604
JTH 35 20 7 1,544
| 12 12 1 1,463
ElEE % 38 4 2 1,460
Sl 20 35 7 1,428
i%s] 7 30 2 1,310
{ERBE 30 16 5 1,107
HEE®) 220 25 54 1,078
A 12 32 4 1,011
EIIN 18 33 6 991
HHZEE) (1) 205 23 46 925
SN 15 17 3 855
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A 6 26 2 793
Y 9 20 2 699
HAEE 9 36 3 673
Ho A SR 8 24 2 665
HH 11 19 2 644
%] 37 8 3 506
H A kR 14 40 6 504
iod=Ed 10 20 2 48)
BHH 4 31 1 417
2= (i) 66 24 16 313
AJR 3 18 0.5 293
HER 3 14 0.41 286
HR(EE 14 21 3 285
HEE 3 12 0.3 209
EASACINED) 3 24 0.76 199
il 1 29 0.32 189
EEHE 2 17 0.37 187
H kA 4 15 0.59 175
A 2 31 0.76 110
e 2 12 0.23 94
HBiSEE 3 5 0.16 73
SEEHE 3 5 0.15 58
TraE(E) 17 11 2 56
AL 0.49 16 0.08 54
415 2 20 0.4 40)
Btk 0.8 10 0.08 38
fllE 0.19 90 0.17 37
s 0.5 18 0.09 31
il 0.3 13 0.04 24
SEAEA(ED 4 20 0.8 19
A 0.1 20 0.02 17
% 0.5 18 0.09 16
55 () 3 20 0.6 12
=) 0.29 40 0.12 10
EEIR(E) 3 10 0.25 8
g 0.4 10 0.04 7
AR R 0.2 15 0.03 7
BHE 0.16 20 0.03 5
S H A 0.1 20 0.02 4
=it 0.58 18 0.11 4
FH(E) 1 10 0.1 2
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